Section—C 2x12=24
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 12 marks.
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10. What is an Applet ? Discuss the steps involved in
developing and running applet.
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11. What is a default constructor ? Explain with the

example.
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12. What are Reserved words in java ? List the reserved
words available in java.
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13. Write a program in java to swap two numbers.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1) Write the syntax for switch statement. 2. What is Thread ? Explain the life cycle of a thread.

Switch ®eiz @1 yEy fafem | gs FN T ? 9 & oA = H qHE |
(i) What is Applet ? 3. What is Inheritance ? Explain multilevel and
S T E 2 hierarchical inheritance.
‘ RO 1 ¥ 2 wodeie @R eRUE i sede
(i11) What is String ? = TIET
e = & 2 4. Explain the difference between Break and Continue
(iv) What is java ? statement with suitable example.
e 4 ? Break 3iR Continue ®He & S 3TR SUGH SRRV
(v) What is Labelled Loop ? ® f‘” g'“A'sa' :
5. What is Array ? Explain the One Dimensional
G ICS ?
. ¢ qq b % ' Array with the help of example.
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(vii) What is Byte Code ? 6. Explain all features of Object-Oriented
Byte Code &1 & ? Programming in detail.
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7. Explain all elementary data type in java.
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8. What is operator ? Explain the Bitwise and logical

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.

ques—« operators.
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sifoham 200 val # uRifaa wifse) @ gee 9. Explain the structure of java program.
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